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£S5 B5 RA/He =3 ks vs W4 BS  RiA/E2 £
1.1 13 WHLRA - 1 RN
1 TR 2011 : VFIRFT 2188
2 hRAT 1200 . CM  fiF 2136
3 T 1200 : VPR 2133
1.2 2 yuaRA - 14 =
1 X1 2269 : B 1986
2 Broete 2196 : XI5 1200
3 A 2092 : AL 1200
1.3 15 BRPERA - 3 BEHIBA
1 K5 H 1890 ; cM  Ek 2112
2 R ) 1| 1200 . SR 2015
3 HEA 1200 : N S 1956
1.4 4  EKKM - 16 TR
1 ZH 2282 : gk S FF 1200
2 Tk 5 2216 : JEAT 1 1200
3 X E 2114 . By 1200
1.5 17 HiRB - 5 U911 B
1 K I 1200 . 23k 2072
2 TAHHT 1200 : EIN/ 1967
3 IRV 1200 : MR AR 1919
1.6 6  WidLRA - 18 FTHEBA
1 R 2256 : XA I 1200
2 M3 1974 . ER 1200
3 KB 1200 . gk e 1200
1.7 19 iWARERA - 7 MIINUN
1 RCHE 1200 : FM 28 2345
2 X1 B4 1200 : JEE e 1200
3 Ry 1200 : T 1200
1.8 8  JumBA - 20 KFELRBA
1 H4aAa 2180 . EEIEA 1200
2 2= Sy 1200 : TRAESE 1200
3 9 E 1200 : X1 et 4 1200
1.9 21 {LVERA - 9 N
1 J7 RS 1200 . BRI 2171
2 A& = FH 1200 : VFH 1200
3 it 2, 1200 : g 1200
1.10 10  H#R - 22 E-T19N
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XA SH 2094 : e g 1200
JE AT 1200 : LEE VRS ) 1200
RILE 1200 : A= H Iy 1200
1.11 23 IU&RBA - 11 H &
WG 1200 : A AR 2091
X 1200 . AL 1200
AL 1200 : B 1200
1.12 12 R - 24 EIIBA
gk A 2062 , Jil e FN 1200
LAPN 1200 : PN 1200
SR K 1200 : Tk 1200
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